Airports National Policy Statement (NPS) consultation

Response material for Friends of the Earth members and groups
Introduction
Detailed responses to Questions 1, 4, 5 and shorter answers to Questions 2, 6 and 7 are given below.  Here is a summary of the key points.

1. Evidence from the Airports Commission (amended in some cases by the DfT) shows negligible economic benefit from a new runway and little increase in connectivity in the UK as a whole.  Growth in the regions and their international connectivity are reduced by a third runway at Heathrow (as compared with no new runway).

2. The government estimates show a negligible net economic benefit from a third runway.  If the full impacts of noise, congestion, air pollution and climate change are taken into account, the net economic benefit is negative.

3. It is impossible to assess the noise impacts without proposed flight paths being published.  It is not believable that noise impact would be only by 9% higher with a third runway (as compared with no new runway) when flights and passengers would increase by nearly 50%.  The NPS and other processes should not be progressed until these matters are corrected.

4. There is no evidence given that a third runway would be consistent with EU legal limits for air pollution, let alone other health-based and ecosystem limits.  The NPS and other processes should not be progressed until a credible plan has been published by government which shows with a good level of confidence that a new runway would not cause air pollution limits to be breached or would not prevent air pollution levels over those limits being brought under the limits.
5. There is no evidence given that a third runway would be consistent with the UK’s climate target.  Indeed, analysis by the Committee on Climate Change and used by the Airports Commission shows that a third runway is not consistent.  The NPS and other processes should not be progressed until the government’s climate strategy (expected in the autumn) is published and shows that a new runway would be consistent.

6. The consultation materials, particularly the leaflets and the ‘roadshow’, were systematically biased in favour of a new runway at Heathrow.  It gave misleading sound bites and unsupported assertions about economic and employment benefits, while massively playing down impacts such as noise, air pollution and climate change.  This has destroyed the credibility of the consultation and the NPS process.   

Response to questions

Q.  I wish my response to be treated as confidential.

No, we are happy for the response to be published.

Q1.  The Government believes there is the need for additional airport capacity in the South East of England by 2030. Please tell us your views.

1. The consultation does not make a convincing case for additional airport capacity in the South East of England by 2030 in terms of demand, connectivity or economics for the reasons explained below.

2. Forecasts of the Airports Commission (AC) show that if a new runway was not built at Heathrow, the great majority of growth in UK demand would simply be met at other airports, SE and further afield, where is plenty of spare capacity.

3. The AC analysis also shows that even if a new runway is built, there will be hardly any increase in destinations directly served from the UK and it reduces considerably the number of international destinations served by regional airports.  Therefore there is no significant loss of connectivity if a new runway is not built.  

4. Heathrow claims that a new runway would enable it to serve a total of 14 domestic routes, up 6 from the current position.  However, the AC’s economic analysis shows that even with a third runway, the number of domestic routes served by Heathrow would fall to 4.  Therefore, all such claims of extra domestic routes should be rejected as mere propaganda.

5. A third runway at Heathrow would simply increase the concentration of aviation in the SE.  This would not help the regional economies and it will further unbalance the UK economy.

6. The AC analysis furthermore shows that of the traffic lost, the great majority would be interchange traffic.  This is traffic where foreigners jet into Heathrow and then jet out.  Because they are not staying in Britain, they bring no economic benefit; but they dump extra noise and pollution over the populace near Heathrow.  The government tries to justify Heathrow expansion by defining an objective as ‘maintaining Heathrow’s hub status’.  But no proper economic justification is given of that objective.

7. The AC and DfT have estimated the economic benefit of a new runway in the form of a Net Present Value (NPV).  This is by far the best approach to evaluating infrastructure projects because it takes account of cost and benefits (which are economic rather than purely financial).  The latest estimate by DfT is £0.2 to 6.1bn.  While it may still sound a lot, even the top figure of £6.1bn is negligible in the context of the UK economy.  It is a benefit over 60 years and it is equivalent to just a fraction of the cost of a cup of coffee for each airport passenger.  It is equivalent to about 0.005% of GDP.  

8. In deriving this NPV, important costs have been under-estimated.  The AC considered that surface access improvements costing about £5bn were needed while Transport for London estimated about £15bn.  But following intervention from the Secretary of State, DfT reduced the cost to between £1.4 and £3.4bn.  The DfT has assumed that new runway would increase noise impacts by only 9%, despite the fact that flights and passengers would increase by nearly 50%.  By dropping the ‘carbon capped’ scenario, the government has ignored the climate change costs due to extra CO2 emissions resulting from a third runway.  If all these are factored in, the NPV becomes negative. 

9. In its consultation materials, DfT has quoted a figure of £61bn economic benefits.  This is totally misleading because it is a ‘gross’ economic benefit, that is benefits without any of the corresponding economic and financial costs being subtracted.  The public has been grossly misled in the consultation by the figure of £61bn being highlighted, not the NPV.

Industry lobbyists and some politicians are claiming that a third runway is now needed more post Brexit to show ‘Britain is open for business’.  This is just hype and has no place in the decision-making process.  Indeed, IATA (International Air Transport Association) issued a report ‘The impact of ‘BREXIT’ on UK Air Transport’ which forecasts considerably less growth in both passenger and freight traffic as a result of Brexit.  

10. The forecasts of demand on which the entire AC and DfT analysis is based assumes that aviation will continue to enjoy tax free fuel indefinitely.  A tax on fuel at the same rate as petrol would raise about £10 billion pa at current rates.  Because the demand for air travel is very sensitive to price, the growth in demand will be much less if air travel was not made artificially cheap aviation by avoiding its fair share of tax (fuel tax and VAT).  We do not believe that a new runway should be built, with all the devastation it will cause, on the basis of a large and continuing tax dodge.

11. Great play is made in the consultation of the economic benefits of more trade, facilitated by more air travel.  But the fact of the matter is that the vast majority of air travel is tourism and leisure.  According to Office of National Statistics, just 2% of trips are British business people flying long distance (beyond Europe).  Far more money is taken out of the UK by tourism that is brought in; encouraging even more (tax-free) flying is therefore not economically beneficial to the nation.  It should furthermore be noted that affluent people comprise the great majority of tourist traffic.  This means that the benefits and public subsidies (surface access, tax exemptions, etc) help the affluent and exacerbate inequality.

Q2.  Please give us your views on how best to address the issue of airport capacity in the South East of England by 2030. This could be through the Heathrow Northwest Runway scheme (the Government’s preferred scheme), the Gatwick Second Runway scheme, the Heathrow Extended Northern Runway scheme, or any other scheme.

The fact that Heathrow is nearly full does not mean there is a serious issue of airport capacity in the SE or the UK.  AC’s analysis shows that if new runway is not built at Heathrow, virtually all the growth in UK terminating traffic up to at least 2030 simply goes to other UK airports.

Q3.  The Secretary of State will use a range of assessment principles when considering any application for a Northwest Runway at Heathrow Airport. Please tell us your views.

No comment.

Q4.  The Government has set out its approach to surface access for a Heathrow Northwest Runway scheme. Please tell us your views.

1. The Airports Commission (AC) estimated that some £5bn would need to be spent on surface access (road and rail) to support a new runway.  However, the experts on surface access, Transport for London (TfL) estimated £15bn.  In its review, DfT revised down the cost of SA cost to a range of £3.4bn to £1.4bn.  But whatever the cost, Heathrow airport has offered to pay only about £1bn.  This means a taxpayer subsidy of £0.4bn to £11bn to support Heathrow expansion.  We believe there are more important claims on the public purse than subsidising affluent people to fly.  (The great majority of trips are by affluent people and the great majority of trips are leisure/tourism.  All trips are free of fuel tax and VAT.)

2. The consultation claims that the percentage of trips to Heathrow by public transport will increase from the present if a new runway is built.  That is welcome, but it is not good enough.  With nearly 50% more passengers, there would be a massive increase in car trips even if the % of trips by public transport rises to 55% (in 2040). 

3. A large increase in road traffic is not sustainable because it will lead to more congestion, more air pollution, more greenhouse gas emissions, more ill health and more deaths.  More ambitious targets are needed for public transport but, crucially, they must be made to happen.  This can only be achieved by providing the necessary public transport and – crucially - by limiting car access and parking for the airport.

4. Suggested measures to increase the proportion of passengers travelling by public transport will have no effect on the increasing volume of freight that is being promoted as a benefit of expansion.  Lorries produce large amounts of pollution, so an increase in lorry traffic would make meeting  legal and health-based pollution limits even harder.

5. The estimates of NPV include the cost of the proposed enhancements to surface access (now only £1.6bn to £3.6bn.)  However, these enhancements can only address the congestion that would otherwise ensue in a very small part of the area affected by Heathrow.  It is inevitable that there would be an increase in congestion over the whole of west London and west of London resulting from R3.  While the percentage increase in traffic and congestion may be small at any particular location, it will be occur over a very large area.  The total environmental and social cost of the extra traffic and congestion will therefore be considerable and should be included in the economic appraisal.  

Q5.  The draft Airports National Policy Statement sets out a package of supporting measures to mitigate negative impacts of a Heathrow Northwest Runway scheme. Please tell us your views. Are there any other supporting measures that should be set out? In particular, please tell us your views on:
Q5.1  Air quality supporting measures
1. Air pollution is the UK’s biggest environmental cause of premature death (second only to smoking overall), killing 29,000 people prematurely a year from particulates alone.  However, if the effects of the toxic gas NO2 are added, the number of premature deaths is expected to double.  It is estimated that 9,500 Londoners die every year from air pollution. 

2. Heathrow is already a massive polluter.  The air pollution standards – set to protect human health – are regularly breached around Heathrow.  It is obvious that a new runway, with nearly 50% more flights and passengers, air pollution will be greater with a new runway than without. 

3. DfT claims that air pollution (euphemistically called air quality) can be addressed: “The Government believes that, with a range of policy measures and environmental mitigations, expansion at Heathrow Airport can be delivered within legal air quality requirements.”  There can be no confidence that this belief is justified because recent court cases brought by and won by Client Earth shows there is no credible plan even without an extra runway. 
4. A new ‘plan’ was published on 5/4/17 for consultation but first indications are that no effective measures are proposed (as opposed to just being mentioned).   Until a new air quality plan has been published and shown to be credible - in the courts if necessary - there can be no assurance that air pollution limits would be achieved even without a new runway. 

5. If the decision process were to be continued in absence of clarity on air pollution, that would be an admission that the government intends to ignore air pollution.  It would be an affront to citizens who have a right to breathe clean air and could it well be challengeable in court.   

6. The consultation is materially misleading because the air pollution estimates are for 2030, when the runway will only be about 5 years old and will only be partly used.  The real impact of a new runway – a fully used runway – is not shown.

7. Heathrow has offered only to use the new runway to the extent that air pollution levels are not breached.  But these are just words.  Without government support and insistence on this and without a regulatory or legal framework to support it, the offer is valueless.  
8. The consultation refers only to meeting EU legal limits. That is, what the UK can get away without legal action.  The consultation ignores the deaths and ill-health as issues in their own right, even though air pollution at well below EU legal limits has health and other impacts.  WHO ‘Guideline’ values are ignored.  The consultation also ignores the fact with Brexit, the UK may repeal air pollution laws.  The undertakings would then be valueless because there would then not even be a weak target to be met.

9. It can be deduced from the consultation that the government believes that long as EU limit values are achieved, the potential health benefit of reduced air pollution from non-airport sources can be appropriated by extra pollution from a third runway.  We do not accept that health benefits from potential reductions in air pollution should be sacrificed in this way.

10. Without reliable forecasts of air pollution levels and genuine health-based targets, it is not clear what ‘supporting measures’ on air pollution really means.  

Q5.2.  Noise supporting measures

1. According to the European Commission, at least 725,000 people live under the Heathrow flight paths; 28% of all people impacted by aircraft noise across Europe.  And that is before a new runway.  

2. The noise impacts of a third runway area are unknown because no proposals for flight paths have been made.  Residents who already suffer from aircraft noise do not know whether it will get better or worse for them.  Those that do not suffer at present do not know if they will be newly affected.  

A new runway would almost certainly bring a considerable number of new people under a flight path for a first time, including hospitals, nursing homes, care centres and schools.  Without knowledge of the flight paths, it is impossible to have a meaningful consultation.  
3. The noise contours, used by the NPS, do not properly reflect impacts.  For example, averaging over ‘easterlies’ and ‘westerlies’ gives Leqs and noise contours which are used to claim that large populations are not affected by aircraft noise.  Leqs and resulting contours over-emphasise the effect of quieter planes (because the perceived loudness is relate to noise energy in an approximately logarithmic way) and correspondingly under-estimating the impact of numbers of aircraft.  The exclusive use of Leq systemically and increasingly under-estimates the real impacts. 

4. The consultation says “Heathrow Airport has committed to mitigate the noise impacts which could result from a new runway.  Measures will include new binding noise performance targets to encourage the use of quieter aircraft, and continuing to alternate the airport’s runways to provide local communities with predictable periods free from noise.”  To simply “encourage” use of quieter aircraft gives absolutely no assurance of real action or of results.  Qualitative statements, without numbers or targets, are valueless.  

5. The promise of predicable respite without any figures also makes it valueless.  Worse, the consultation is misleading because it fails point out that a third runway will lead to reduced respite for many.  With two runways, communities under the landing paths get 50% respite; with 3 runways they will probably only get 33%.  Communities which currently have 100% respite, because they are not currently under a flight path, will get less respite.    

6. If there are improvements in aircraft technology and procedures, we consider that communities round Heathrow should benefit in terms of sleep, quality of life and health.  The potential benefits should not be appropriated by a third runway.

7. Not mentioned in the consultation, but buried in the supporting documents, there is an assumption that the number of people affected by noise would only increase by 9% with a third runway.  This is not believable – with an increase of flights and passengers of nearly 50%, the increase in noise impacts would be nearer to 50% than 9%.  

8. The consultation says “The Government is seeking a legally binding ban on scheduled night flights of a period of six and a half hours between 11pm and 7am at an expanded Heathrow Airport, with the start and end times to be determined after consultation. This would provide an extra hour and a half free from noise compared to today’s airport operations.”  Simply “seeking” is inadequate – it should be requirement before any form of expansion.

9. Based on the forgoing, it is clear that there are no effective supporting measures on noise proposed.

Q5.3  Carbon emissions supporting measures 

1. The consultation document says: “The Airports Commission concluded that any one of these schemes could be delivered with the UK’s climate obligations.”  This is a simplification of what AC said and a simplification of the reality of the situation to the point of being misleading.

2. The AC took seriously advice from the Committee on Climate Change (CCC).  CCC’s advice to government is that emissions of more than 37.5 mtonnes pa by 2050 would just about be compatible with the CO2 targets in the Climate Act.   It would, however, place great pressure on other sectors, which would have to achieve even higher cuts to make up for aviation’s emissions.

3. AC’s estimate of carbon emissions with a new runway at Heathrow, based on their preferred ‘assessment of need’ scenario carbon traded’, massively overshoots that target.  It is possible - in a literal sense – to build a third runway and stay within the carbon target.  But that would require one of two things, as can be seen from a cursory examination of AC or DfT demand forecasts.

4. Firstly, not use the new Heathrow runway! But some constraints would still be needed at regional airports.  Secondly, constrain growth heavily at regional airports so that a new runway can at Heathrow can take up the CO2 emissions to the limit.

5. Neither of these options were even intimated or discussed, let alone recommended by AC.  Nor did the government, in its response, consider such options.  Thus, the government’s proposal will clearly lead to a breach of its climate targets (expressed as annual CO2 emissions in 2050).  The truth of the matter is therefore that a third runway is NOT consistent with the UK’s climate obligations.

6. 6.38 “Heathrow Airport will need to take ambitious measures ..” and 6.39 “Heathrow Airport is expected to include specific proposals ..” are extremely vague.  Worse, they only refer to emissions from the airport itself, a mere 3% of the total emissions including aircraft.

7. There are no specific proposals in the draft NPS and nothing to show that AC’s estimate of a massive exceedance of the CCC target (carbon traded) is wrong.

8. From the above, there is no evidence that greenhouse gas emissions will be brought within the UK’s climate obligations.  It is clear that no effective supporting measures on climate change (carbon emissions) are proposed.

9. It should be noted that the UK’s climate target currently only covers CO2.  Aircraft emit significant amounts of other greenhouse gases, these being water and NOx at altitude.  It is estimated that these emissions add an estimated further 60% to the climatic effect of CO2.  
10. The government is due to produce a climate strategy in the autumn which will, inter alia, show how the targets in the target in the Climate Act will be achieved.  As noted above, there is every indication at present that if a new runway is built, that would make achieving the target impossible. If the decision process were to be continued in absence of clarity on climate change, that would be an admission that the government intends to ignore climate change.  It would be an affront to citizens whose children and grandchildren deserve a world free from the threat of carastrophic climate change.   
Q5.4  Compensation for local communities
1. We support the principle of compensation but, crucially, ‘without prejudice’.  We do not believe that a damaging and inappropriate planning decision should be granted simply because compensation is offered.  Nor should noise or pollution levels not be minimised simply because compensation is offered.

2. The NPS and consultation is somewhat misleading because part of what is discussed is “mitigation”, not “compensation”.  Assistance with double glazing is mitigation because it reduces noise impacts indoors.  But where mitigation is not possible, eg in a garden, only compensation is possible, normally monetary.

3. Any compensation must be proportionate to the harm caused, in accordance to the “polluter pays principle”.  The noise “compensation” suggested of £50m pa is utterly inadequate, given that the economic and health impact of noise.  No compensation is offered for air pollution or climate charge (carbon emissions) which is inexcusable.  

4. In addition to fairness and natural justice, giving full compensation has social and economic benefits.  If the airport or airline has to pay for its impacts it causes, it has a real incentive to minimise impacts.  An airline would, for example, have a financial incentive to invest in quieter planes.  Or an airport would have an incentive to increase landing charges for noisier planes or ones landing at night. Use of compensation – a type of ‘economic instrument’ – is more economically efficient than regulatory measures.

Q6  The Government has set out a number of planning requirements that a Heathrow Northwest Runway scheme must meet in order to operate. Please tell us your views. Are there any other requirements the Government should set out?

1. Skills.  Without any legal basis or any method of enforcement proposed, Heathrow’s current ‘Public commitment’’ to create 5,000 new apprenticeships is worthless.

2. Ruling out a fourth runway.  As part of the government’s agreement to Terminal 5, it ruled out a third runway.  Very soon after the new terminal was built, Heathrow started lobbying for a third runway and very soon after the government was expressing support.  We therefore have no reason to trust any commitment not to build a fourth runway.  We note in any case that there is no commitment not to support a fourth runway.  “ .. does not see a need for a fourth runway ..” (6.55) is nothing like a commitment not to support one later and thus gives no “certainty” to residents whatever. 

Q7  The Appraisal of Sustainability sets out the Government’s assessment of the Heathrow Northwest Runway scheme, and considers alternatives. Please tell us your views.

1. While there are serious shortcomings in the Sustainability Appraisement, its overall conclusion is sound.  Namely that a New NW runway and an extended northern at Heathrow have similar adverse environmental impacts and a new runway at Gatwick would have considerably less environmental impacts (but not in biodiversity terms).

2. The government’s ‘decision’ to support Heathrow expansion is based on the greater claimed economic benefit of Heathrow expansion over Gatwick.  The claimed economic benefits for Heathrow are extremely dubious as explained in our response to Q1.  But the adverse environmental impacts (more noise, more air pollution, more climate change) and social impacts (destruction of homes and communities and pressure on public services and infrastructure) are unequivocal and large.  We do not accept that highly dubious economic benefits should override unequivocal large environmental and social costs.      

Q8.  Do you have any additional comments on the draft Airports National Policy Statement or other supporting documents?

No comments. 

Q9.  The Government has a public sector equality duty to ensure protected groups have the opportunity to respond to consultations. Please tell us your views on how this consultation has achieved this.
No comments.
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